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Mock Examination 3

Time allowed: 3 hours

Answer both questions in Section A and any three from four in Section B.

SECTION A – answer both questions

1. Steps Stationers plc operates a chain of stationery shops that sell goods to traders on credit and to the public for cash.

The following is its trial balance at 31 March 20X2:

	
	Debit
	Credit

	
	£’000
	£’000

	Freehold premises at cost
	18,000
	

	Motor vehicles at cost
	6,050
	

	Provision for depreciation on motor vehicles 
	
	3,500

	Purchases/sales revenue
	9,200
	16,200

	Inventory
	1,900
	

	Trade receivables/payables
	2,200
	1,600

	Selling and distribution expenses
	1,365
	

	Administrative expenses
	1,415
	

	Cash and cash equivalents
	20
	530

	Interim preference dividend
	200
	

	Loan stock interest
	75
	

	Provision for bad debts
	
	95

	Share premium account
	
	1,500

	5% loan stock
	
	3,000

	Retained profit
	
	2,500

	10% preference shares of £1 each
	
	4,000

	Equity share capital account
	
	7,500

	
	
	

	
	40,425
	40,425


The following additional information should be taken into consideration:

1. The balance on the equity share capital account comprises the following fully paid shares:

	
	£’000

	5 million equity shares of £1 each at 1 April 20X1
	5,000

	Proceeds of issue of 2 million equity shares of £1 each

       at a price of £1.25 each on 1 January 20X2
	2,500

	
	7,500


2. The preference shares are fully paid.

3. The directors paid final equity dividend of 15 pence per share in the year; however, this transaction had not been posted.  The dividend on the preference shares is outstanding at the year end.

4. The directors have decided to revalue the freehold premises on 31 March 20X2 at a value of £23 million.

5. The inventory at 31 March 20X2 cost £1,850,000.  This includes goods that cost £30,000 that are damaged.  It is estimated that these could be sold for £27,000 after repairing them at a cost of £2,000.

6. The motor vehicles are depreciated at 25% p.a. using the straight line method.  The company has a policy of not amortising freehold premises.

7. Included in the cost of motor vehicles is a truck that was purchased on 1 October 20X1.  The amount that has been included comprises the following:

	
	£

	Basic price
	47,000

	Painting the company name and logo on the sides
	800

	Registration plates
	200

	Road tax for one year from 1 Oct. 20X1
	2,000

	
	50,000


8. The provision for bad debts should be maintained at 5% of the trade receivables at the 31 March 20X2.

9. At the 31 March 20X2 there were administrative expenses accrued of £6,000.

10. Ignore taxation.

You are required to prepare a statement of profit and loss (income statement) for the year ended 31 March 20X2 and a statement of financial position as at that date.  Present your answer using a vertical format with £’000 in the column headings.

(25 marks)

2. Explain the accruals concept and the matching principle giving one example of the application of the latter in financial statements.

(15 marks)

Section B – answer three questions

3. The trial balance of M.Thatcher, a trader, as at 31 January 20X3 failed to agree.  The difference was entered in a suspense account.  The trial balance was then used to prepare draft final financial statements that show a net profit for the year of £53,670.

M.Thatchers books comprise the usual books of prime entry, including a two-column cash book with cash discount columns, and a single general ledger that contains all the credit customer and suppliers personal accounts.

A subsequent audit revealed the following errors and omissions:

1. At the end of the accounting year the business is being prosecuted for a breach of the laws on health and safety.  It is highly probable that the business will be found guilty and have to pay a fine of between £1,200 and £1,500.  No entries relating to this have been made in the books.

2. Cash discount allowed to E.Heath, a credit customer, of £20 has not been entered in the cash book.

3. Bank charges shown in the cash book as £430 have been entered in the bank charges account as £340 in error.

4. No entries had been made in the books at the end of the accounting year in respect of an inventory of stationery that cost £100.

5. A sales invoice for £3,000 sent to T.Blair has been entered in the sales day book as £300.

6. The debit side of the light and heat account has been over-cast by £9.

7. Interest received of £250 has been recorded in the books as interest paid.

8. The total of the sales returns day book has been under-cast by £900.

9. A personal computer costing £2,000 has been debited to the office expenses account in error.  This was purchased on 1 May 20X2.  Office equipment is depreciated at 20% pa on a strict time basis using the reducing balance method.

10. The balance on the rent and rates account shown in the ledger as £10,000 has been entered in the trial balance as £1,000.

You are required to prepare:

(a) The journal entries necessary to correct the above errors and omissions.  For each journal entry give a short narrative containing the name of the type of error that has occurred.

(15 marks)

(b) A statement showing the revised net profit for the year.

(5 marks)

(Total 20 marks)

4. The following is the statement of financial position of A.Kitten as at 30 April 20X1:

	
	£
	
	£

	Capital
	85,000
	Motor vehicles at cost
	90,000

	Trade payables
	4,500
	Less: aggregate depreciation
	14,000

	Accrued expenses
	150
	Written down value
	76,000

	
	
	Inventories
	6,500

	
	
	Prepayments
	250

	
	
	Trade receivables
	5,400

	
	
	Bank
	1,500

	
	89,650
	
	89,650


During the year ended 30 April 20X2 there was a fire that destroyed the books of account and supporting documents.  However, by questioning the proprietor and other parties you have been able to ascertain the following:

1. All the transactions of the business pass through the business bank account.  There are none in cash.

2. The motor vehicles have been depreciated at 20% pa on a strict time basis using the straight line method.

3. On the 1 February 20X2 a motor vehicle was put in part exchange for another.  The part exchange allowance on the old vehicle was £7,000, and a further £13,000 was paid by cheque in full settlement of the cost of the new vehicle.  The old vehicle was bought on the 31 October 20W9 at a cost of £16,000.

4. A further vehicle costing £10,000 was bought on the 30 April 20X2 for business use, but paid for from the proprietor’s private bank account.

5. The business borrowed £8,000 from the Atomic Bank on the 1 August 20X1 that was repayable on the 1 August 20X4.  This is subject to interest at 10% pa payable at the end of each year from the date of the loan.

6. The balance on the business bank account at the 30 April 20X2 as shown on the bank statement was £1,580 overdrawn.  At that date there were amounts paid in but not yet credited of £370 and cheques not yet presented for payment of £690.

7. On the 1 January 20X2 the proprietor introduced additional capital in the form of a cheque for £5,000.

8. The proprietor made drawings during the year comprising cheques with a total value of £24,000.

9. The inventory at 30 April 20X2 was physically counted and valued at £8,060.  This includes goods costing £120 that were received on the 29 April 20X2, but the invoice for these goods was not received, and entered in the books, until the 2 May 20X2.

10. During the year the proprietor took goods costing £1,000 from inventory for her private use, and did not pay for them.

11. The trade receivables at the 30 April 20X2 were £6,600.  It was decided that these include irrecoverable debts of £400, and that a general provision for bad debts should be made of 5%.

12. Invoices received from trade suppliers up to 30 April 20X2 that had not been paid at that date totalled £5,700.

You are required to:

(a) Prepare a statement showing the profit or loss for the year ended 30 April 20X2 and a statement of financial position as at that date in vertical form.

(15 marks)

(b) Briefly explain the theoretical justification for the method you used in part (a) to compute the profit or loss for the year.

(5 marks)

(Total 20 marks)

5. Day and Knight are in partnership sharing profits and losses equally after giving each partner 5% pa interest on capital and annual salaries of £30,000 to Day and £18,000 to Knight.

They have decided that as from the 1 July 20X3 the profits and losses will be shared Day 2/3 and Knight 1/3 after giving each partner 10% pa interest on capital and annual salaries of £36,000 to Day and £26,000 to Knight.

The financial statements are made up to the 31 December of each year.  The profit for the year ended 31 December 20X3 was £100,000 and this is believed to have accrued evenly over the year.  The following is the statement of financial position at the 31 December 20X3 before the appropriation of the profit between the partners and any other entries relating to the change in the partners profit sharing ratio:

	ASSETS
	£’000
	£’000
	£’000

	Non-current assets
	
	
	

	Freehold premises
	
	
	530

	Current assets
	
	
	

	Inventories 
	
	
	90

	Trade receivables 
	
	
	30

	Cash and cash equivalents
	
	
	15

	
	
	
	135

	Total assets
	
	
	665

	
	
	
	

	EQUITY AND LIABILITIES
	
	
	

	Capital
	Day
	Knight
	

	Capital accounts
	240
	160
	400

	Current accounts
	80
	60
	140

	Net profit
	
	
	100

	
	320
	220
	640

	Current liabilities
	
	
	

	Trade payables
	
	
	25

	Total liabilities
	
	
	25

	Total equity and liabilities
	
	
	665

	
	
	
	


The above balances on the partners’ capital accounts are as at the 31 December 20X2.

On the 1 July 20X3 the freehold land and buildings were revalued at £630,000.  The partners have also agreed that the book values of the other assets and liabilities at the 1 July 20X3 were their current net realisable values.  The goodwill at the 1 July 20X3 was valued at £60,000 but no goodwill account is to be maintained in the books.

You are required to prepare:

(a) The partners’ capital accounts as at the 1 July 20X3 showing the effects of the change in the partners’ profit sharing ratio on their claims on the partnership assets.

(5 marks)

(b) A profit and loss appropriation account for the year ended 31 December 20X3.

(8 marks)

(c) A statement of financial position as at 31 December 20X3 showing all the entries in the partners current accounts after giving effect to the change in the partners profit sharing ratio.

(7 marks)

(Total 20 marks)

6. (a) Describe the role(s) of the bodies that are involved in the setting and enforcement of accounting standards in the UK.

(10 marks)

(b) What criteria should be used to evaluate whether accounting standards and the standard setting bodies have achieved their aims over the last three decades?  Using these criteria make a short tentative evaluation.

(10 marks)

(Total 20 marks)
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